Long Term Care Insurance - Combined Ins Co of America (NAIC 62146) Rate Increase History

Company Contact: (800) 225-4500

		*Policy	**Policy	Date Policy	Date Policy	Acquired From	Acquired From Company	CA	Other State	Increase	Increase	Date Increase	Date Increase	Date Increase	
	Policy Form	Туре	Category	Sold	Acquired	Company Name	NAIC	Policy	Policy	Requested	Approved	Requested	Approved	Issued	Company Explanation
1	14515-MI		С	7/1/1998	12/31/2008	Combined Insurance Company of America	62146		MI	38.00%	38.00%	1/24/2014	2/3/2014	7/28/2014	Prior approval not required
'	14010-1011	'		17171990	12/31/2000	Combined Insurance Company of	02140		IVII	30.00 %	30.0070	1/24/2014	2/3/2014	7/20/2014	Thorapprovariative defined
2	14515-TN	1	С	2/1/1998	12/31/2008	America	62146		TN	38.00%	38.00%	12/10/2013	3/24/2014	7/28/2014	
3	14515-MO	I	С	2/1/1998	12/31/2008	Combined Insurance Company of America	62146		MO	38.00%	20.00%	2/4/2014	3/25/2014	7/28/2014	
4	14515-DE	ı	С	3/1/2001	12/31/2008	Combined Insurance Company of America	62146		DE	30.00%	30.00%	3/3/2014	4/2/2014	10/11/2014	Preapproved 2 year 30% then 6.2%
5	14515-WI	ı	С	12/1/1997	12/31/2008	Combined Insurance Company of America	62146		WI	24.20%	24.20%	1/23/2014	3/6/2014	12/23/2014	% of increase based on average
6	14515-WA		С	7/1/1999	12/31/2008	Combined Insurance Company of America	62146		WA	38.00%	38.00%	1/28/2014	4/15/2014	7/28/2014	Prior approval not required
7	14515-OR		С	5/1/1999	12/31/2008	Combined Insurance Company of America	62146		OR	38.00%	17.50%	3/28/2014	5/13/2014	10/28/2014	
8	14515-OK		С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		OK	38.00%	25.00%	2/18/2014	6/4/2014	10/28/2014	
9	14515-6K		С	8/1/1999	12/31/2008	Combined Insurance Company of America	62146		KS	38.00%	38.00%	1/29/2014	6/6/2014	10/23/2014	
10	14515-WV		С	11/1/1998	12/31/2008	Combined Insurance Company of America	62146		WV	38.00%	15.00%	3/18/2014	8/6/2014	10/28/2014	
						Combined Insurance Company of									
11	14515-IL	I	С	12/1/1997	12/31/2008	America	62146		IL	38.00%	38.00%	12/13/2013	8/15/2014	12/2/2014	

Long Term Care Insurance - Combined Ins Co of America (NAIC 62146) Rate Increase History Company Contact: (800) 225-4500

	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
12	14515-GA	I	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		GA	38.00%	15.00%	1/23/2014	8/22/2014	12/2/2014	
13	14515-VT	I	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		VT	38.00%	0.00%	1/24/2014	3/23/2015	N/A	
14	14515-NC	I	С	5/1/1998	12/31/2008	Combined Insurance Company of America	62146		NC	38.00%	20.00%	7/1/2014	9/26/2014	12/29/2014	
15	14515-CO	I	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		CO	38.00%	13.00%	11/6/2014	3/30/2015	6/22/2015	
16	14515-MO	I	С	2/1/1998	12/31/2008	Combined Insurance Company of America	62146		MO	15.00%	15.00%	5/1/2015	5/4/2015	8/4/2015	
17	44515	I	С	3/1/1999	12/31/2008	Combined Life Insurance Company of New York	78697		NY	15.00%	15.00%	12/23/2014	7/20/2015	10/12/2015	
18	14515-GA	I	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		GA	20.00%	8.00%	6/19/2015	7/28/2015	11/29/2015	
19	14515-WV	ı	С	11/1/1998	12/31/2008	Combined Insurance Company of America	62146		WV	20.00%	20.00%	5/19/2015	8/5/2015	10/30/2015	
20	14515-MN	ı	С	9/1/1998	12/31/2008	Combined Insurance Company of America	62146		MN	38.00%	10.70%	12/22/2014	2/5/2016	7/5/2016	
21	14515-OK	I	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		OK	10.40%	10.40%	5/19/2015	1/25/2016	4/12/2016	
22	14515-IN	I	С	9/1/1998	12/31/2008	Combined Insurance Company of America	62146		IN	38.00%	9.50%	5/28/2015	8/7/2015	12/21/2015	

Long Term Care Insurance - Combined Ins Co of America (NAIC 62146) Rate Increase History

Company Contact: (800) 225-4500

	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
23	14515-VA	_	С	2/25/1999	12/31/2008	Combined Insurance Company of America	62146		VA	38.00%	0.00%	7/1/2015	8/8/2016	N/A	
24	14515		С	7/1/1999	12/31/2008	Combined Insurance Company of America	62146		NE	38.00%	38.00%	1/29/2014	8/11/2014	10/28/2014	
25	14515-DE	ı	С	3/1/2001	12/31/2008	Combined Insurance Company of America	62146		DE	N/A	6.20%	N/A	N/A	10/11/2015	Preapproved from prior filing
26	14515-MT-1097	ı	С	6/1/1998	12/31/2008	Combined Insurance Company of America	62146		MT	20.00%	0.00%	8/20/2015	10/18/2016	N/A	
27	14515-RI	I	С	8/1/1999	12/31/2008	Combined Insurance Company of America	62146		RI	38.00%	pending	1/28/2014	pending		
28	14515-MT-1097	I	С	6/1/1998	12/31/2008	Combined Insurance Company of America	62146		MT	38.00%	15.00%	1/31/2014	7/3/2014	10/28/2014	
29	14515-MN	_	С	9/1/1998	12/31/2008	Combined Insurance Company of America	62146		MN	N/A	9.50%	N/A	N/A	7/5/2017	Preapproved from prior filing
30	14515-MA		С	5/1/2000	12/31/2008	Combined Insurance Company of America	62146		MA	40.00%	pending	8/4/2017	pending	pending	
31	14515-IL		С	12/1/1997	12/31/2008	Combined Insurance Company of America	62146		IL	66.70%	pending	12/21/2017	pending	pending	Apply only to policies with inflation protection
32	14766-IL		С	11/1/2003	12/31/2008	Combined Insurance Company of America	62146		IL	100.00%	pending	12/21/2017	pending	pending	Apply only to policies with inflation protection
33	14767-IL	I	С	1/1/2003	12/31/2008	Combined Insurance Company of America	62146		IL	100.00%	pending	12/21/2017	pending	pending	Apply only to policies with inflation protection

Long Term Care Insurance - Combined Ins Co of America (NAIC 62146) Rate Increase History Company Contact: (800) 225-4500

	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
34	14515-MI	ı	O	7/1/1998	12/31/2008	Combined Insurance Company of America	62146		MI	66.70%	66.70%	1/26/2018	2/28/2018		Applies only to policies with inflation protection
						Combined Insurance									

	FUILLY FUITH	Турс	Category	Solu	Acquired	Company Name	INAIC	Fullcy	Fullcy	Requesteu	Approved	Requesteu	Approved	issueu	Company Explanation
34	14515-MI	ı	С	7/1/1998	12/31/2008	Combined Insurance Company of America	62146		MI	66.70%	66.70%	1/26/2018	2/28/2018	9/18/2018	Applies only to policies with inflation protection
35	14767-MI	ı	С	4/1/2003	12/31/2008	Combined Insurance Company of America	62146	5	MI	100.00%	100.00%	1/26/2018	2/28/2018	9/18/2018	Applies only to policies with inflation protection
36	14515-GA	ı	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146	5	GA	85.20%	12.00%	2/6/2018	5/29/2018	10/6/2018	Applies only to policies with inflation protection
37	14515-VT	I	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		VT	130.00%	pending	2/9/2018	pending	pending	Applies only to policies with inflation protection
38	14765-VT	I	В	9/1/2004	12/31/2008	Combined Insurance Company of America	62146		VT	100.00%	pending	2/9/2018	pending	pending	Applies only to policies with inflation protection
39	14767-VT	I	С	1/1/2003	12/31/2008	Combined Insurance Company of America	62146		VT	100.00%	pending	2/9/2018	pending	pending	Applies only to policies with inflation protection
40	14783-VT	1	В	1/1/2007	12/31/2008	Combined Insurance Company of America	62146		VT	35.00%	pending	2/9/2018	pending	pending	Applies only to policies with inflation protection
41	14785-VT	ı	С	10/1/2006	12/31/2008	Combined Insurance Company of America	62146		VT	35.00%	pending	2/9/2018	pending	pending	Applies only to policies with inflation protection
42	14515-MO	ı	С	2/1/1998	12/31/2008	Combined Insurance Company of America	62146		MO	91.50%	38.40%	3/13/2018	5/29/2018	10/6/2018	Applies only to policies with inflation protection
	14515-NC	ı	С	7/1/1998	12/31/2008	Combined Insurance Company of America	62146		NC	139.67%	pending	3/13/2018	pending	pending	Applies only to policies with inflation protection
44	14785-NC	I	С	4/1/2004	12/31/2008	Combined Insurance Company of America	62146	3	NC	41.80%	pending	3/13/2018		pending	Applies only to policies with inflation protection

Long Term Care Insurance - Combined Ins Co of America (NAIC 62146) Rate Increase History

Company Contact: (800) 225-4500

							Acquired		Other						
		*Policy	**Policy	Date Policy	Date Policy	Acquired From	From Company	CA	Other State	Increase	Increase	Date Increase	Date Increase	Date Increase	
	Policy Form	Туре	Category	Sold	Acquired	Company Name	NAIC	Policy	Policy	Requested	Approved	Requested	Approved	Issued	Company Explanation
45	44515		С	3/1/1999	12/31/2008	Combined Life Insurance Company of New York	78697		NY	100.00%	pending	4/12/2018	pending	pending	Applies only to policies with inflation protection
		'				Combined Insurance Company of					1 0				Applies only to policies who have previously received a capped 10%
46	14515-WI	ı	С	12/1/1997	12/31/2008	America	62146		WI	10.00%	10.00%	4/17/2018	5/7/2018	10/6/2018	increase
47	14515-VA	I	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		VA	130.00%	pending	5/3/2018	pending	pending	Applies only to policies with inflation protection
48	14515-WA	I	С	7/1/1999	12/31/2008	Combined Insurance Company of America	62146		WA	78.50%	pending	6/13/2018	pending	pending	Applies only to policies with inflation protection
49	14515-WV	ı	С	11/1/1998	12/31/2008	Combined Insurance Company of America	62146		WV	66.70%	pending	7/9/2018	pending	pending	Applies only to policies with inflation protection
50	14515-MN	I	С	9/1/1998	12/31/2008	Combined Insurance Company of America	62146		MN	N/A	6.40%	N/A	N/A	7/5/2018	Preapproved from prior filing
Polic	⊥ y Key Coding:														
	*Policy Type														
		Individua	al												
		Group													
	Р	Partners	ship												
	** Policy Categor	\ 'V													
	A Nursing and Residential Care Facility/Tax Qualified														
		are Only/Tax		-, an quanto	-										
		hensive/Tax													
				ty/Non-Tax Qu	alified										
	E Home Care Only/Non-Tax Qualified														
	F	Comprel	hensive/Non	-Tax Qualified											